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Total No. of Questions : 60 + 35 = 98 Total No. of Printed Pages : 24
(wiw : 352 15 fiew) (7% . 100)
| Time : 3 Hours 15 Minutes | | Full Marks : 100 |

weritaat & fa frde
Instructions for the candidates :

1 gitsre? qurev st aet o g} I €
Candulates are required to give therr answers in thew ocwn words as far as

pructicable

2. ol s oferd ot fag gu st qeilw Five e ki
Figures in the nght hand margin indicate full marks

3 A 9 @1 IR YaE A & AT 15 Az e siale e Ra o
15 munutes of extra time have been allotted for the candidates to read the questions

carcfully.

4. uF wEed ot avsi 3 ¢ — avg-3 07 avy-u/
This question paper ts dusded inlo two sections — Section-A and Section-B.
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qftaT qftomT 3R i
In Section-A, there are 60 objective type questions, out of which any §0 questiony

are to be answered. First 50 answers will be cvaluated by the computer in case
more than 50 questions are answered. Each question carries 1 mark. Darken the
circle with blue / black ball pen against the correct option on OMR Anstwer sheet
provided to you. Do not use whitener / liquid / blade / nalil etc. on OMR-shest,

otherwise the result will be !nual!&.

6. @vg-g i 2779 IA0q W &, At @ fawt 15 At @ 3w dw dfard by
i ge & fey 2 o Fife &1 @@ fafte, a0 avs i 8 dd Iwdta v
i &, formd @ fa=et awwat a1 3w 3w 1 9=F w97 & v s s Frife &1
In Sectlon-B, there are 27 short answer type questions, out of which any
15 questions are to be answered. Each question carries 2 marks. Apart from this,

there are 8 long answer type questions, out of which any 4 questions are to be

answered. Each question carmes S marks.

7. FEwt SR & el IyFr 7 wahT Qoiaar afd &1

Use of any electronic appliances is strictly prohibited.
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WYy - X / SECTION - A
wHfa U¥T / Objective Type Questions

mmxﬁwmtmtmwﬁmwwt&aﬂﬁwﬁtlfﬁﬁ

somﬁtmmmqﬁwwﬂﬁmdouarﬂzwﬂlﬁmﬂl
80x1=50

Question Nos. | 1o 60 have four options, out of which only one is correct. Answer any

50 questions. You have to mark your selected option on the OMR-Sheet. 50«1 =50
] ot [ 90* - AI -
7 P

(Al cotA LBy~ tanA

(€) sin A (D) i ﬂiﬁ Tﬁ/nonc of these
z./, J3RUH

(A) sfeig @@ (B) WIFA HWem

—iC) - ity wA (D) ¥ A FH W

J3 isa

(A) Rational number (B) Natural number

(C) Irrational number (D) nonc of these

174 cosccU-JIO ﬁ. a scclhw=?

(A) "]J% ®) J—:’,_Q-
(©) 'J%_o' - (Dt"""%
If cosec0 = J10, then sccO is cqual to

w —',‘i’-—[—)- (8) -‘%_9
() J—IL(; (D) —J%
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O

T ~ e Bl

) 3T S(xy.p;) B firerrt Al TS & quifa® & A &

4, {‘F‘;H’] R[xl.yl
' \ X+ Xy ¥,
{A, r’xl + yl l.t2 +* y] (B] [ 2 ' 2
. 2 2
C) "xl =Xy Y -yz‘ (D) - ""'l +x,.y| +y31
The coordinates of the mid-point of the linc segment joining the points Rlxl )
and S(x,.y,) is
X, + X, + X +Xy Yy *Y,
" ['2”1. 12”2] @ [ T
‘Cl [Il;xﬂ.yi ;y2] [D] lxl +x2'yl+y2]
5 1 s Bt} qm et e &
(A)  waETER N T
(€ waEtTay 3 wHwq D) TR @R A
Two circles of different radii are always
(A)  congruent (B)  similar
(C)  congruent and similar (D)  nonc of these
tan49°*
6// cotd1°®
A 3 By 2
L1 (D) 6
3;./ R AN 2, 7,12, 17, .. F T ayy-a,, 97 ¥ (R o, G A00 A
n @l 9T 1)
(A) 100 (B] 10
ch;/ 50 (D) 20
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The value ol a,

~a,, for the AP 2,7, 12,17,

(where a_ denotes the n-th

wrm ot AP gy
(Al 100 (D) 10

[ 50 W) 20
R S TEE P * 7w R

L, ]
{A) [ 4, 3 ] lnl _‘l _g_]
’ -

- 14

1< (‘3-3) O (3.4)

The zeroes of the polynomial 2x? + Sx - 12 are

“ (3 " (g
() [-%%] D) (-3,4)

193 < s # wm ) A far }

(A 25 ~JBr~ 30

iy 32 D) 36
How many two-digit numbers are divisible by 3 ?
(A} 25 B) 30
(C) 32 (D) 36

T2 sin A - -I% 0, A cot A F HE W

8 17

{A) 15 (B) 13

. ) 8

9 © 17

HsinAs= % , then the value of cot A =

: 17

(A) 15 (B) 15

., 15 o B
(C) 3 (D)
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. - b ("I ] "h’m ‘ -
b R o & e i BT dgedy w6, 2o 4y M)

s
PR\ -2 B
K8 o 2
For whxh value of &k will the system of equations dxedy =6, x-4dyad Ny,
many solutons ?
WA -3 m -8
< 8 o) 2
12, TR AT 6,13.20, 216 ¥ A R E
w118 ® 104
SRy DO} 125
The middle term of the AP. 6, 13, 20, ..., 216 is
A 1S B 104
Q1 © 125
13 jie.s)jmgat
W 6 B -5
G- o s
The x-coordinate of the point ( 6, -5 ) is
A} 6 . B -5
i -6 D 5

14, sec’60" -1 AR

w2 ® 3 '
@ s ©r o
Value of sec? 60* -1 is
W 2 ® 3
< 4 @ o
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15, uix (x? + 5x 4 8) & a MM (uep)e?
A} 5 o s
€ 8 (D) -8
o and P are 2crocs of (x? + 5x + 8] then (a tM)=?
A} 5 B) -5
) 8 o -8
16 uis favel wafag fnpr w3 b ol T 0 0 B, @ T Qe

(C) % 4a? - b? (D) m

If an isosceles triangle has base b and equal sides a, then its arca will be
(A) '—E}-az (8) ﬁ_g.p_c.

(C) -% 4a? - p? (D) bJ4¢::—-b’

17 4R FHET x-2y = 3 AT 3x+ ky = 1 T CF AT ¥R 7, @

(A) k=-6 | B k=-6

C) k=0 (D) k=0

If the equations x -2y =3 and 3x + ky =1 have an unique solution, then
(A)  k=-6 AB"k » -6

(C) k=0 ‘ (D) k=0

18, fwadl AR # FAR 10 m ¥ H G T I B 450 R, A dow o A

A AGE 9 F47 @ 2
(A) S5m (B) 8m
€) 7m —{D}— 10m
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19

21.

the angle of clevation of the sun s 43¢

The heght of a tower is 10 m When 49

. , rou
what will be the length of the tower s shadow on the §

(Al Sm By 8m

i) Tm (D) 10m . N .
ﬁéw%ﬁﬁsmgfiﬂaﬁ?,AﬁqﬂW@mmmmmm
scm, W gw w ik

(Al 7 cm (B) 6 cm

(€} Jem (D) 4cm

The length of a tangent to a circle from a point A at a distance 5 cm from the

centre of the circle is 4 cm, then the radius of the circle is

(A} 7cm (B) 6cm

(€0 3cm (D) 4cm

& OF W UF W IO T A OF F SR 6 W 0@ § 6 1 E R

mfawa ¥ 2
! 1
W3 Bs
! 2
< 3 @ 3

Two dice are thrown together. The probability of getting the same number on
both dice is

1 1
A3 B 2

! 2
© 3 o 3
sccO=7

cos0 l
A sin0 (B) cos0

sin0 cos0
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22

23.

24,

25.

i

Fl

Jeon0 w2 F.T. a lﬂuc?l]*?tnnzﬂ-?) LR Tl b
(A) 0 \/[B}' 1
) 3 D) 4

If 3cos0 =2, then the value of (2scc? l]+2u:m20-7| will be
(A) 0

B) 1

€ 3 D) 4
fﬂms%uﬁﬂﬁﬂaﬁmmsm.aﬁﬁﬂ&ﬂﬂmﬂﬁk ?
(A)  P(E)<O (B) P(E)>1

(€) -1sP(E)s] UPr  0sP(E)<)

If the probability of occurrence of an cvent E is P { E ), then which of the
following is correct ?

(A) P(E)<O (B) P(E)>1
(C) ~1sP(E)s] (D) O0<P(E)sI
T x? -2 -3 F AE FARAE ?

(A 3.1 B 3,-1

€ -3,1 (D) -3,-1
What are the zcroes of polynomial x? -2x-3 ?

Ay 3,1 B 3,-1

€ -3,1 D) =3,-1

fat ga & aniE I v g wad st 2

(A} w B 2
) 1 o) 3
At how many points docs a tangent line of a circle touch it ?
(A) B) 2
< 1 © 3
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6" 2.6,4.5.0,2, 1,3, 2% WFAE

b
&

iAn 2 B 3
~ 1
i) 6 40}
Mode of 2,6,4,5,0,2,1,3. 218
A 2 | 3
X o) 1
C) 6
: R @ WA
27, g W@ (2x-1), (Ix+2) TG (6x - 1) THIA a3 &, @ x
A} 3 | |
€ 2 ) © -
If the numbers (2x-1), (3x+2) and (6x -1) arc in A.P., the valuc of x1s
Ay 3 | !
) 2 D) O
28, i o WHET px? + 4x + 3= 0 F A W @, @ pH g1 &
4
w3 B 3
3 3
(C) 3 D) <

If roots of quadratic equation px? +3x +3 =0 arc cqual, then the value of Pis

2 4
4 3
© 2 O 3
29. 1 SMAT HEHIH F HoHo ¢
{A) O B) 1
€ 2 (D) 4
The HCF of two consecutive numbers is
A} O (B) 1
€ 2 D) 4
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W0 R 20)® g e fag Q)

V- o m 2
(SR ) s
Distance of the point (2, 3 ) from the ongin is
A Vo | N2
€ 13 D) 5
I 2L18S, W W )
-~ .
N 6 | 74
(C) 8 W | o) 9a
Which term of the A.P. 21,18,15, ... is 0 ?
A} 6th B) 7th
(€)  8th (D) 9th
32w e g fh fag ) o omi A g0 o e @
(A} W ~By” Wi
C) (A 3 (B) T D) T} FE 7
The distance of a point in first quadrant from the x-nxis is called
(A)  x-coordinate (B)  y-coordinate
(C)  both {A) and (B) (D)  nonc of these.
33~ U 2-x(x-1) & IFUH B EAGH §
A -2 B) 2
) 7 (D)
The product of the zcroes of the polynomial 2-x(x~1) is
A -2 | 2
c 7 D) L
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34, et f o) antag soft @ 2

A 10527073, (B V2,¥8./18,432,...

(€} -10,-16,-2,2, ... (D) 02, 022 0222, 02222, ...
Which of the.following is an A.P. ?

(A 1%,52,72 73,... B)  J2,V8.V18,¥32,...

(€)  -10,-16,-2,2, ... (D) 02,022, 0222, 02222, ..

3s.  Fofefan o o wrwg w@t d 2

A} 2-x?+J3x B) =x+!

WSy (D)
Which of the following is not a polynomial ?

(A} 2-x?+J3x (B) %x*l

c x° (D)

36, ot w@ 3T G &1 Fan I oft W o @) dard ane R, @ W I

Fvr ¢
A o B 30°
JG 45 (D)  60°

If the height of a vertical pole and the length of its shadow on the ground are

the same, then the angle of elevation of the sun is

(A) ©0° (B) 30°
) 45° D)  60°

37/ 3z A 3R B 3 G AR § F sinA =cos B, AT (A+B)=?
(A) 45 B) 60°
-~ 90° ‘ (D) 30°
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If Aand I ate two acute angles such that sin A = cos [ then (A s Hi=7?
(A) 45 m 60
<) N D) 30

Wy g (4, -1 ) st 2,3 % dm W g R

(A 343 m 5
) 345 Oy 25
Distance between the points (4, -1 Jand (2,3 ) is
A 33 B 5
€} 345 D) 25

9 2 dset @ fremad @ sema (10 2) 8 @ e S w sqee (s5:3) 8L A
& s w9 ek

(A) 4:9 (B) 11:12

Ay 5:12 (D) 20:9
Radii of two cylinders are in the ratio { 1 : 2 ) and their heights are in the ratio

{ 5:3), then their volumes are in the ratio
[A) 4:9 (B) 11:12
) 5:12 D) 20:9

40, WR 1,4, xS5TMI2F MR 7L, AT TAL

Al 6 ® 8
s 13 o 9
If 1,4, x, S and 12 is 7, then the value of xis

w6 | 8
€ 13 D) 9
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Al 5005 % fwad s EUE k7
g 4
by 7

2
(o] 6

How many prime factors of 5005 arc there ?

(A} 2 |\ 4
€ 6 o 7

42 l+tan’ A .?

/ lecot?A

(A} -1 (B) sec?A
(C) cot’A rlE}J/'um2 A

43, U uF @1 e B gt 21 cm A X1 TEE G0 10 fz 1 aa e &
(A) 126 cm? B~ 210 cm?
(C) 231 cm? (D) 252 cm?

The minute ncedle of a watch is 21 cm long. The area covered by it in

10 minutes s
(A) 126 cm? (B) 210cm?

(C) 231 cm?’ ' (D) 252 cm?

44/./ fai (3, 2) 3 (-3, 2) <A amafeaa &

B I T (B) y I W

Y 3 & T AR (D) 3 & At 3R
Both of the points ( 3, 2 ) and (-3, 2 ) are located on
(A)  x-axis (B) y-axis

(C)  one side of x-axis (D)  both sides of x-axis

| 210 | G [7036-G a7 Page 14 of 24




45/ 20+ Jy =11 M 2-ay--2aFEAK

Al x=2 y=4q B) x=-2,y=-5
€ x=-3,y~1 LM x=-2,y=5
Solutions of 2x « Jy=11 and 2x -~ 4y = -24 arc
Al x=2 y=4q B) x=-2,y=-5
(C) x=-3,y=1 D) x=-2,y=5

46 tan 30*.5in 30°. cot 60° cosec 30° =

i
w4 ® 3
c 1 o 1
4

47T T F P gt e 216 om? § A $EE @ d
(A) 144 cm’ B) 196 cm®
€  212cm’ _OF 216 cm®
If the total surface area of a cube is 216 cm?, its volume is
(A) 144 ¢m? (B) 196 cm’
(€) 212 cm’ (D) 216 cm’

48,  Fofafas § @ Gom wdmwor 3@ R 2

(A) Sx+2x?=x?43 B) xP-x?s(x-1)°
(C) (x+3)=3(x?-5) D) (V2x+3)¥=2x?+5
Which of the following is not a quadratic equation ?

(A) Sx+2x? =x243 (B) xS—I?-(I-l]J
(C) (x+3)2=3(x?-5) D) (V2x+3)=2x2+5

39,  WHT FO T J A & ARG F FUE 9 : 16 &, A IAF T JB & QG
&1 39 &g 2
A) 3:4 (B)
SO 301 (D)

[210 | G [7036-G un Page 15 of 24




/hr Fatio of the volumes of two cylinders of the samc height i3 92 16, they, wha,
ts the ratio of their surface arcas ?
LR B M 2:3
€ 3. (D) 4:3

50. , wig P15.6)14% A6, 5) 3 pya, y) T miT € T@ WU AB ;”""fhi

8 My g T g o

A} 5 B 7
€ 12 D) 16
irp

['5.6) is the midpoint of the linc scgment AB joining the points A (¢ 5)
and (4, y), then Yy equals to

€12 (D) 16

51, % OR ®) S w1 um wem IR # wfgwar &
; 2 1
w2 B <

. | |
~{C). 3 (D) 2

A dic is thrown. The probability of gelting an cven number is

2 1
(A) 3 (B) 3
1 1
(C) 3 (D) 2
52. 96 T AW UG F ¥ 2
(A)  2%'x3? B) 23x33
(C) 25x3 (D) 2x3°
What will be the prime factor of 96 ?
A)  2%x3? (B) 23x33
(C) 25x3 (D) 2x3S
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ol

/

55.

r Vo & 0w s e}

L
I S B 2
. 3
C S |
(C) 2% (D) El!—:lr“1
The volume of the sphere of radius ris
4.3
(A) 3 nr (B) %lr‘]
3
C LI |
€ S (D) %lr‘]
(1 -mn’ﬂj(l +cot?0)m
Al 0 m -1
1
(C) 2 —or 1
a2 % BClDE, AD: AB = AE: x,  x wa b
C
E
LA D B
(A} BD (B) BC
(C) AC (D) EC
In figure BC| DE, AD: AB = AE: x, then x is cqual to
C
E
A D B
€) AC (D) EC
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W n”nhxnmuqq¢.mwmu1ﬂﬂmk
i
m
(Al 64 cm? By 100¢

¥ |
m
(€1 125cm? (O 128 ¢

. m i
The area of the inner square of a circle of radius B ¢

4
{A) 64 em? (B) 100 cm
2
(C} 125 cm? (D) 128 cm
57 _ AADC 1 apgr 8 AB  BC 3 gt fingar wirew g1, 4%
'{M .{[i"[ﬁ 1[" M-JD
1€y <«B=<D ) (D) «A=<ZF
i % - g—;; in AABC and ADEF, both of these triangles will be similar if
Al ZBe/E (B)  ZA= 2D
@ <B=sD (D)  £A=2F

58, % Yiaw wiET w g anina ¥, @ T Fref e @ v A

Ay T (B) T F
iC) @A dfawd ' (D) WAl sraan dqw
Il a pair of lincar equations is inconsistent then the lines representing them
will be
(A)  parallel (B) always coincident
(C)  always intersecting (D)  intersecting or coincident

59 ! WS N EFA 8670 & 3N 36F owo 17 ¥, A THH FHoWo &M

W 102 B) 85

€y 107 ~r~ 510

L]
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The product of two numbers is 8670 and their HCF is 17, t}

(Al

(€

60, 0.8 M 22 971 Floqio 3R Howo w1 FIA &

w
(C)

The ratio of the LCM and HCF of 6, 8 and 22 i3

(A)
(€)

Question Nos. | to 27 are Short Anstwer

102

107

132
B:6

132:1
8:6

(8)
~bf

(B)
(D)

(B)
(D)

85
510

2:22
12:3

2:22
12:3

Uy - ¥ / SECTION - B

wen their LCM will be

ﬂ‘]?ﬂﬁ‘?m / Short Answer Type Questions
T WG 1 X 27 ww Ay I §1 o @ e 15 wyAt & 3 31 wew o & e
2 3% fRuifm ¥

cames 2 marks.

T UG R R U T plE T 3x2 - 4x -1 = 0 1 & fraTed

15 x2 =30

Type. Answer any 15 questions. Each question

15 x2 =30

)
-~

: : 2 _acv-1s
Using quadratic formula find the solutions of the equation 3x~ - ix-1=0.

ATz w5t i# V2 uF g e g

Prove that 2 is an irrational number.

3. Al R (x y), g (6,-1) 3R (2,3) 8 FREE ¥, @ fa@ #E ooy =0,

2

If ( x, y ) is a point cquidistant from the points ( 6, -1 ) and { 2, 3 ), show
that x-y =23,

4. % TN & HoWo 18 YN IH] AT 12960 &1 Al ITH dofo Wd H11 2

The HCF of two numbers is 18 and their product is 12960. Find their LCM.

[210] G

7036-G 117)
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. ) e w1 g e <t fw fagd (-2,9), 10, 1) T (2, y) it ) ,

25010, 1 fand [ 2, 1

Using the distance formula, show that the points |

are collincar
e et & SINT ¥ aftfe 132 cm i 3Ew) St 25 om b A R @ s

yrt &l 2
if the arcumference of the base of a cylinder is 132 cm and its height is 25 ¢
find the volume of the cylinder

7 -t apc qw wwizag fop ¥, frgm @ ¢ wwwm Ry fog Wi fs
At = 24¢? 2
ABC is an isosceles tnangle whose angle C in a nght angle. Prove 1hy
AB? «2AC%.

8 G wno= %, amn0-bcos0 7 ary it Wiy 9

asin0 + bcos0
If tan® = £ | then find the value of £ 8in0 - beos 0 .
b asinl e+ bcos0

9 faw) & o& an 3oen A R A s &) faw e w 2
Three coins are tossed together. Find the probability of getting three heads.,

19— Ffetae 423 & ana e &t 2

Find the mcan of the following distnibution : .
Cluss- | 90-50 | sS0-60 | 6070 | 70-80 | 80-90 | 90-100
interval
QAT ]
15 25 14 12 8 6
Frequency
1. 7% %1 & an48*wn23*1n42*1an67* = 1. 2

Show that wn48°*tan23* tan42*tan67°* = 1 .

[210) G [7036-G a7 Page 20 of 24




12.

13.

15.

16.

17.

18.

fuz

#1f3 .
e g P13,2),Q(-2,-3) 3 R(2,3) 7% wwwm fop & &
4

orow that the pointa (3, 2), (-2, -3} and R (2,3 ) make a right angled

tnangle.

fug &t fig 1=sino

Iq ‘lnﬂ "[.‘-'CU-IMIO)].

Prove thay l=8ing0
+sind

PO Abe R spnsi apmar acw @ fag p 3l £ W T W R fo DE] BC

(necO-tano)?,

ufs AD=(7x-4), DBw(3x+4), AE=(Sx-2) T EC=3x, M x % A
cach 2

In AABC, D and E arc points on the sides AB and AC respectively auch that
DEJBC. 1 AD = (7x-4), DB = (3x +4), AE ={5x -2)and EC =3x, then find

the value of x.
W 6x? -3-7x & T WA wt o vk I T & d A @
T FY Ay wiy 2

Find the zeroes of the polynomial 6x2-3-7x and verify the relationship
between the zeroes and the coeflicients.

I.Em’tﬁiﬁmﬁmﬁn ‘
Convert 1-8 in the form of%.

Feita P 7x-2y = 3 3 220 - 3y = 16 T TR A fafy @ g@ w0 2

Solve the system of cquations 7x-2y=3 and 22x-3y=16 by cross.

multplication method.

w&mim&cftmn‘m:-};mwiw%t,a’tﬁsﬂ’rﬂ'ﬂwmfwﬁl 2

If the scventh term of an A.P. is % and its ninth term is %, find its 63rd term.
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4 b wi
19 ﬂ;m;ﬂm;inqkm‘nthrwﬁﬂ#mE-I-!'“W.WT'”I

Z]

The difference of two numbers is 4 and the difference of their reciprocals i A
Find the numbers

20 B e wEoam wt

Scoa’ 60° o -1m~'10'-:mn‘45°_
sin® 30° » cos® 30°

Evaluate the following :

Scon’ 60° + 48cc?30° - Jtan? 45¢ |
win? 30% + cos? 30°
21 fez &t fe go w2 fogn fen) fag @ didt ot et T, W g daw ad o
frmm @ #a g 3
Prove that, the tangent drawn at a point of a circle is perpendicular to its rad;y

passing through the point of contact.
22, UH NUGAER UE &) TEA WA &1, Frma oftam 360 m @ ?

Find the arca of a semi-circular park if its perimeter is 360 m.

237 % TE & 0E 9w W A g, @ A O € dem A 8w R wiewa
.28 2
Two dice arc thrown together, then find the probability of getting sum of two
numbers is 8 on both dice.

24, Frefefaa 47 w1 wgers ym wt

2
"
Find the mode of the following distribution :
- aue
Class- | 80-85 | 85-90 | 90-95 | 95-100 | 100-105 | 105-110 | 110-115
interval
C At Gl
‘ 33 27 85 155 110 45 15
Frequency
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a5

a0
S~

a7

U A & s ) froa § cm @ @t 12 cm K VW ax 7S AT Frerel
a

l“llltl the curved surface arca of a cone whose rldl.Ul of basc is S ¢m and hﬂghl

s 12 ¢m

Yftere Favrargan verifos @1 wain #2 1651 79T 2032 1 HoHo frered 2

Using Euclid's division algorithm, find the HCF of 1651 and 2032

N Apc w1 dw fax i wifag Pk it feg (<1, 00, (5, -2) M
P

(8,2)8

Find the centroid of AMADIC whose vertices are (<1, 0). (5. -2) and (8.2)

{id Ffi7 U¥T / Long Answer Type Questions

WY wem 28 @ 3s @ gaia b1 gl @ el o ol & T §) wRw oE & fag

8 3w fraifea &) 4x8+20
Question Nos. 28 to 35 are Long Answer Type. Anzwer any 41 questions Each question
cames 5 marks 4«5=20
28 Hll-Tili{mri:q thy_zmql_ay.(,ﬂmlflﬂmm';h 5

29

30

Draw the graph of pair of cquations 3x -y = 2 and 9x - Jy = 6 and solve them

TF agufasn vaa & fo A W 0w s m 4w & B s A B
AW §1or wwy 300 M a5t b1 e v @ Sk st o vl & @
&} g g @) 5
When viewed from the top of a multi-stoned building, the angles of depressions
of the top and bottom of an 8 m high building are 30* and 45 respectively. Find

the height of the multi-storied building and the distance between the two
buildings

fog &1 fa fait gm & ofom wxiae v, wvapia o b 5

Prove that the paraliclogram circumscnibing a circle is a rhombus.
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vy w) O w4 st p e mhi sy e e

Five years ago, A was thrice as old as [J and trn years later A shal] b Ty p
old as H What are the present agea of Aand 17

2 fag wi s {mtttA~-lnAH"U“""A|"mn;\\-(utd

¥ ]

-~
|
Prove that (cosec A -atnA)[sec A=~con A= tanAscot A
1 TF I ABC ®) T W AD < Sem, BC = 6 cm 7T ZADC - g0 b, 5,

an\gz!ﬁmﬁhmﬁm.wx‘ﬂﬁW‘Iﬂ“iW%’Fﬁﬁ'

o

Draw a thangle ABC in which AB = 5¢m, HC = 6 cm and ZABC = 60" Then

canstruct a tnangle whose aides are % times the corresponding sidey of \ABC

14 r;zrémirzwﬁum#;vhigmaokmshumis&qr..ﬁzakmmﬂ?':zr
mmkunm&:rﬁmzlmw5tiéﬁammm&,mz—_,:g
WZ{ WZ &1 9 S U @ wrE e T

b

A motor boat covers 30 km upstream and 28 km downstream in 7 hours Alss

i covers 21 km upstream and come back in 5 hours Find the speed of 11,
maotor boat in still water and that of the stream

35 qrfmAnc#:m;qﬂaﬁﬁchmtﬁmthMﬁao T pe w
Fawd, e g pe wnife pogm vt o b 6 om s

cm £ \-:71}-':
AL T AC 6 Fag) A #1)

-

3
A triangle ABC is drawn to circumscribe a arcle of radius 4 cm such that the

scgments BD and DC into which BC is divided by the point of contact D are of

lengths 6 cm and B em respectively. Find the lengths of the aides AL and AC
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